
                    Visit us at www.agyatgupta.com                                                                        Visit us at www.agyatgupta.com   

Target Mathematics by- Agyat Gupta ;   Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony                  Target Mathematics by- Agyat Gupta ;   Resi.: D-79 Vasant Vihar ; Office : 89-Laxmi bai colony                    
visit us: agyatgupta.com ;Ph. : 4920171®, 2630601;4010685;7000636110(O) Mobile : 9425109601(P)            visit us: agyatgupta.com ;Ph. : 4920171®, 2630601;4010685;7000636110(O) Mobile : 9425109601(P ) 

                                    
 

 

GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :GENERAL INSTRUCTIONS :    
1. All questions are compulsory. 

2. The question paper consists of 30 questions divided into four 

sections A,B,C and D. Section – A comprises of 6 question of 1 

mark each. Section – B comprises of 6 questions of 2 marks each. 

Section – C comprises of 10 questions of 3 marks each and Section 

– D comprises of 8 questions of 4 marks each. 

3. There is no overall choice. However, an internal choice has been 

provided in four questions of 3 marks each and three questions of 4 

mark each. You have to attempt only one of the alternatives in all 

such questions.  

4. Use of calculator is not permitted.  
lkekU; funsZlkekU; funsZlkekU; funsZlkekU; funsZ’k % k % k % k %     
1. lHkh iz’u vfuok;Z gSaA 
2. bl iz’u i= esa 30 iz'u gS] tks 4 [k.Mksa esa v] c] l o n gSA [k.M & v esa 6 

iz”u gSa vkSj izR;sd iz’u 1 vad dk gSA [k.M & c esa 6 iz'u gSa vkSj izR;sd iz”u 
2 vadks ds gSaA [k.M & l esa 10 iz’u gSa vkSj izR;sd iz’u 3 vadks dk gSA gSaA [k.M 
& n esa 8 iz’u gSa vkSj izR;sd iz’u 4 vadks dk gSA 

3. dSydqysVj dk iz;ksx oftZr gSa A 
4. d`i;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`’B 4 gSaA 
5. blesa dksbZ Hkh loksZifj fodYi ugha gS] ysfdu vkarfjd fodYi 1 iz”u 2 vadks esa] 

3 iz”u 3 vadks esa vkSj 2 iz’u 4 vadks esa fn, x, gSaA vki fn, x, fodYiksa esa ls 
,d fodYi dk p;u djsaA 

6. iz’u i= esa nkfgus gkFk dh vksj fn, x, dksM uEcj dks Nk= mÙkj&iqfLrdk ds 

eq[k&i`’B ij fy[ksaA 

                                                    PREPREPREPRE----BOARD EXAMINATION 2017 BOARD EXAMINATION 2017 BOARD EXAMINATION 2017 BOARD EXAMINATION 2017 ----18181818    

MMMMAAAATTTTHHHHEEEEMMMMAAAATTTTIIIICCCCSSSS                                                                                                                                                                                                        CCCCLLLLAAAASSSSSSSS    XXXX                                    
Time : 3 to

4
13  Hours                                                       Maximum Marks : 80    

                                              SECTION ASECTION ASECTION ASECTION A  

 Question numbers 1 to 6 carry 1 mark each  
 

  
 

Q.1 
Find the roots of the quadratic equation : 071367

2
=−− yy .  

f}?kkr lehdj.k 071367 2
=−− yy  ds ewy Kkr dhft,A 

Q.2 
;fn gS rks  

m n

241 241

4000 2 5
=  rks m rFkk n  ds eku Kkr dhft, tcfd m,n   _.ksRrj 

iw.kkZad gSA Hkkx fd, fcuk bld n”keyo izlkj Hkh fyf[k,  

 If 
m n

241 241

4000 2 5
=  , find the values of m and n where m and n are non 

negative integers. Hence write its decimal expansion without actual 

division. 
Q.3 If A,B,C are interior angles of ∆ABC , show that :  

2 2B c A
cosec tan 1

2 2

+ 
− = 

 
 

∆ABC esa A,B,C vUr% dks.k gSA n”kkZb, fd %  2 2B c A
cosec tan 1

2 2

+ 
− = 

 
 

Q.4 9 ls-eh- f=T;k okys ,d o`r ds varxZr ,d lef)ckgq f=Hkqt ABC [khapk x;k ftlesa 
AB=AC=6 ls-eh-A ABC∆  dk {ks=Qy Kkr dhft, A  
If an isosceles triangle ABC, in which AB=AC=6 cm. is inscribed in a 

circle of radius 9 cm. Find the area of the triangle ABC.    
Q.5 Is 68 a term of the A.P. : 7, 10, 13, …………..? 

D;k 68 ,d lekarj Js<+h : 7, 10, 13, …………. dk ,d in gS \ 

Q.6 nhxbZ vkd̀fr esa x rFkk y ds eku gS% 

1 2 
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The values of x and y in the given figure are :  

 

   
                                             SECTION BSECTION BSECTION BSECTION B    

                              Question numbers 7 to 12 carry 2 marks each  
Q.7 Prove that the points (2, 3),  )6,4( −−  and )2/3,1(  do not form a triangle. 

fl) dhft, fd fcUnq (2, 3),  )6,4( −−  rFkk )2/3,1(  ,d f=Hkqt ds 'kh’kZ ugha gSaA  

Q.8 rhu lekarj Jsf<;ksa ds izFke n inksa dk ;ksx dze’k% S1, S2 rFkk S3 gS rhuks dk izFke in 
1 gS rFkk lkoZ varj dze’k% 1] 2 rFkk 3 gS fl) dhft, fd S1+ S3 = 2S2. 

The sums of first n terms of three arithmetic progressions are S1, S2, and 

S3 respectively. The first term of each A.P. is 1 and their common 

difference are 1,2 and 3 respectively . Prove that S1+ S3 = 2S2.     

Q.9 The face cards of spades are removed from a well shuffled pack of 52 

cards. A card is then drawn at random from the remaining pack. Find 

the probability of getting (i) a black card (ii) a queen .  52 iÙkksa dh ,d rk”k 
dh xM~Mh esa ls gqde ds lHkh rjohj okys iÙks fudky fn;s tkrs gSaA “ks’k iÙkksa esa ls 
;kn`PN;k ,d iÙkk fudkyk tkrk gSA izkf;drk Kkr dhft, fd fudkyk x;k iÙkk (i) ,d 
dkys jax dk iÙkk gks (ii) ,d csxe dk iÙkk gks A 

Q.10 Find the zeroes of 23 2x 13x 6 2+ +  and verify the relation between the 

zeroes and coefficients of the polynomial. 
23 2x 13x 6 2+ + ds “kwU;d Kkr djks rFkk “kwU;dksa o xq.kkadks es lEc/k lR;kfir 

dhft, A  
Q.11 P and Q are points on sides AB and AC respectively of ∆ABC. If AP=3 

cm, PB=6 cm, AQ=5 cm and QC=10 cm. show that BC=3PQ . 

fdlh f=Hkqt ABC ds Hkqtk AB rFkk AC esa P vkSj Q nks fcUnq gSA ;fn  AP=3 lseh, 
PB=6 lseh, AQ=5 lseh and QC=10 lseh gks rks n”kkZb, BC=3PQ 

Q.12 Two dice are thrown at the same time. Find the probability getting same 

numbers on both the dice.  nks iklksa dks ,d lkFk Qsadk x;kA nksuksa iklksa ij ,d 
leku la[;k vkus dh izkf;drk Kkr dhft,A A 

 SECTION CSECTION CSECTION CSECTION C    

Question numbers 13 to 22 carry 3 marks each  
Q.13 

Solve for  0]252[)(99: 222
=++++− babaxbaxx .  

x ds fy, gy dhft, 0]252[)(99: 222
=++++− babaxbax . 

Q.14 In given figure, PQRS is diameter of a circle of radius 6 cm. The 

lengths PQ, QR and RS are equal. Semicircles are drawn on PQ and QS 

as diameters. Find the area of the shaded region and also find its 

perimeter.   

 

nh xbZ vkd`fr esa] PQRS ,d 6 ls-eh- f=T;k okys o`Ùk dk O;kl gS rFkk yackbZ;k¡ PQ, 

QR rFkk RS ijLij leku gSaA PQ rFkk QS dks O;kl eku dj v/kZo`Ùk [khaps x,A 
Nk;kafdr {ks= dk {ks=Qy rFkk ifjeki Kkr dhft,A 

Q.15 nh xbZ vkd`fr esa PQ BA�  rFkk PR CA.� gSA ;fn PD=12 lseh gS rks BD  × CD 

dk eku Kkr dhft, A  

In the given figure PQ BA ; PR CA.� �  If PD=12 cm. Find BD × CD 

3 4 
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                                                 OR 

fl) dhft, fd fdlh oxZ dh ,d Hkqtk ij cukbZ xbZ leckgw f=Hkqt dk {ks=Qy] mlds 
fod.kZ ij cukbZ xbZ leckgw f=Hkqt ds {ks=Qy dk vk/kk gksrk gSA 

Prove that the area of the equilateral triangle described on one side of a 

square is half the area of the equilateral triangle described on its 

diagonal.  
Q.16 Prove that 5  is irrational number. 

fl) dhft, fd 5  ,d vifjes; la[;k gSA  
Q.17 The mean if the following frequency distribution is 62.8 . Find 

the value of x.  

Class % 0-20 20-40 40-60 60-80 80-100 100-120 

Freque
ncy % 

5 8 X 12 7 8 

fuEu ckjackjrk caaVu dk ek/; 62-8 gS] rks x dk eku Kkr dhft, % 
oxZ % 0-20 20-40 40-60 60-80 80-100 100-120 
ckjackjrk % 5 8 X 12 7 8 

 

Q.18 A gulab jamun, contains sugar syrup upto about 30% of its volume. 

Find how much syrup would be found in 45 gulab jamuns each shaped 

like a cylinder with two hemispherical ends. The total length of it is 5 

cm and radius 1.4 cm (Use 
7

22
=π )   

,d xqykc tkequ esa mlds vk;ru dh 30% phuh dh pk'kuh gSA 45 xqykc tkequksa esa 

fdruh pk'kuh gksxh] ;fn izR;sd xqykctkequ ,d csyu ds vkdkj dk gS] ftlds nksuksa 

fljs v/kZxksykdkj gSa rFkk bldh yackbZ 5 ls-eh- gS vkSj f=T;k 1.4 ls-eh- gSA 

(
7

22
=π yhft,) 

                                                OR 

A cone of radius 10cm is divided into two parts by drawing a plane 

through the mid -point of its axis. Compare the volumes of the two 

parts.   

10 ls-eh- f=T;k ds ,d 'kadq dks Å¡pkbZ ds chpksa chp tkrs gq, ,d lery] tks blds 
vk/kkj ds lekarj gS] ls nks Hkkxksa ckaVk tkrk gSA nks Hkkxksa ds vk;ruksa dh rqyuk dhft,A 

Q.19 Draw a triangle ABC with side BC=8cm, °=∠°=∠ 30,45 CB . Then, 

construct a triangle similar to ∆ ABC such that its sides are 
4

3
 of the 

corresponding sides of ∆ ABC.   

,d f=Hkqt ABC cukb, ftlesa Hkqtk BC=8cm, °=∠°=∠ 30,45 CB rFkk gSA vc ,d 

vU; f=Hkqt dh jpuk dhft, tks ∆ ABC ds le:i gks rFkk ftldh Hkqtk,¡ f=Hkqt 

ABC dh laxr Hkqtkvksa dh 
4

3
 xquh gksaA 

Q.20 The points P (2, 9), Q (a, 5), R (5, 5) are vertices of a triangle PQR right 

angled at Q. Find the value of ‘a’ and hence the area of PQR∆ .  

fcUnq P (2, 9), Q (a, 5) rFkk R (5, 5) ,d ledks.k f=Hkqt ds 'kh’kZ gSa] ftlesa Q∠  
ledks.k gSA a dk eku Kkr dhft,A PQR∆  dk {ks=Qy Kkr dhft,A 
                                          OR 

;fn fcanq P(x, y) fcanqvksa A(a+b, b-a) rFkk B(a-b, a+b) ls lenwjLFk gS] rks fl) 

5 6 
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dhft, fd bx=ay. 

If the point P(x, y) is equidistant from the points A (a+b, b-a) and B (a-

b, a+b). Prove that bx= ay.    
Q.21 

 Prove that θ
θ

θ

θ

θ
sec2

sin1

sin1

sin1

sin1
=

+

−
+

−

+
. 

 fl) dhft, fd % θ
θ

θ

θ

θ
sec2

sin1

sin1

sin1

sin1
=

+

−
+

−

+
. 

                                         OR 

Evaluate : eku Kkr djks % 

( )

( )

oo o o o o o

o 0 2 o 2 o

2tan 90 152sin68 3 tan45 tan20 tan40 tan50 tan70

cos22 5cot15 5 sin 70 sin 20

−
− −

+
 

Q.22 Determine graphically the vertices of the triangle formed by the 

lines         

x-y+1=0 ; 3x+2y=12 ; y=0 
  xzkQ }kjk fuEu js[kkvksa }kjk fufeZr f=Hkqt ds 'kh’kZ fcUnq Kkr dhft, % 
x-y+1=0 ; 3x+2y=12 ; y=0 

                                                                                                                                             SECTION SECTION SECTION SECTION DDDD    

              Question numbers 23 to 30 carry 4 marks each  
Q.23 fdlh jkT; es Hkkjh ck< ds dkj.k gtkjks yksx cs?kj gks x,  A 50 fo|ky;ksa us feydj 

jkT; ljdkj dks 1500 VSaV yxkus ds fy;s LFkku rFkk dSuokl nsus dk izLrko fd;k 
ftlesa izR;sd fo|ky; cjkcj dk va’knku nsxk A izR;sd VSaaV dk fupyk Hkkx csyukdkj gS] 
ftlds vk/kkj dh f=T;k 2-8 eh- rFkk Å¡pkbZ 3-5 eh- gSA izR;sd VSaV dk Åijh Hkkx 'kadq 
ds vkdkj dk gS ftlds vk/kkj dh f=T;k 2-8 eha- rFkk Å¡pkbz 2-1 eha- gSA ;fn VSaV cukus 
okys dSuokl dk ewY; :- 120 izfr oxZ eh- gS rks izR;sd fo|ky; }kjk dqy O;; esa 

va’knku Kkr dhft, A bl iz’u }kjk dSku lk ewY; tfur gksrk gS \ ¼yhft, 22

7
π = ½ 

Due to heavy floods in a state, thousands were rendered homeless. 50 

schools collectively offered to the state government to provide place 

and the canvas for 1500 tents to be fixed by the government and 

decided to share the whole expenditure equally. The lower part of each 

tent is cylindrical of base radius 2.8m and height 3.5 m, with conical 

upper part of same base radius but of height 2.1 m. If the canvas used to 

make the tents costs Rs. 120 per sq.m., find the amount shared by each 

school to set up the tents. What value is generated by the above 

problem?  (Use 
22

7
π = )    

Q.24 The time taken by Ram to cover 150km in one direction was 150 

minutes more than the time in the return journey. If he returned at a 

speed of 10km/hr more than the speed of going. What was the speed per 

hour in each direction?  ,d fn”kk esa jke dks 50 fd-eh- dh nwjh r; djus esa] ml 
fn”kk ls okfil mlh fcUnq ij vkus ls 150 feuVj vf/kd yxrs gSaA ;fn og okfil vkus 
esa igys ls 10 fd-eh-@?kaVk dh vf/kd pky ls pyrk gS] rks mldh izR;sd fn”kk esa tkus 
dh pky Kkr dhft,A 

Q.25 Prove that the parallelogram circumscribing a circle is a rhombus. fl) 
dhft, fd ,d o`Ùk ds ifjxr lekarj prqHkqZt leprqHkqZt gksrk gS \ 

                                                      OR 

Prove that opposite sides of a quadrilateral circumscribing a circle 

subtend supplementary angles at the centre. fl) dhft, fd o`Ùk ds ifjxr 
cuh prqHkqZt dh lEeq[k Hkqtk,¡ dsUnz ij laiwjd dks.k varfjr djrh gSA 

Q.26 ,d pksj pksjh djds 50 eh@feuV dh ,d leku xfr ls nkSMrk gSA 2 feuV ds ckn ,d 
iqfyl okyk mls idMus ds fy;s nkSMrk gSA ;fn og igys feuV es 60 eh nkSMrk gS rFkk 
vxys izfr feuV viuh pky 5eh@feuV c<k nsrk gS] rks fdrus feuV ckn iqfyl okyk 
pksj dks idM ysxk \     

A theif, after committing a theft, runs at a uniform speed of 

50m/minute. After 2 minutre, a policeman runs to catch him. He goes 

60 m in first minutre and increase his speed by 5 m/minutre every 

succeediung minute. After how many minutes, the policeman will catch 

the theif? 

7 8 
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                                           OR 

Find the sum of all natural numbers from 100 to 200 which are divisible 

by 4. 100 ls 200 ds chp esa lHkh 4 ls HkkT; izkdr̀ la[;kvksa dk ;ksx Kkr dhft,A 

Q.27 On dividing the polynomial p(x)= 4 3 25x 4x 3x 2x 1− + − +  by another 

polynomial g(x)= 2x 2,+  if the quotient is 2ax bx c+ + , find a, b and c.    

cgqin p(x)= 4 3 25x 4x 3x 2x 1− + − +  dks ,d vU; cgqin g(x)= 2x 2+  ls Hkkx 
djus ij HkkxQy 2ax bx c+ + izkIr gksrk gSA  a, b rFkk c ds eku Kkr dhft,A  

Q.28 Hkwfe ds ,d fcanq X ls ,d Å/okZ/kj ehukj PQ ds f’k[kj Q dk mUu;u dks.k 60
o gSaaA 

,d vU; fcanq Y, tks fcanq X ls 40 eh- Å/okZ/kj :Ik ls Å¡pk gS] ls f’k[kj Q dk mUu;u 
dks.k 45

o  gS ehukj PQ dh Å¡pkbZ rFkk nwjh PX Kkr dhft, A ¼ 3 1.73= yhft,½    
The angle of elevation of the top Q of a vertical tower PQ from a point 

X on the ground    is 60
o
. From a point Y, 40 m vertically above X, the 

angle of elevation of the top Q of tower is 45
o 
. Find the height of the 

tower PQ and the distance PX. (Use 3 1.73= )    

Q.29 prqHkZqr ABCD esa oB 90∠ = gSA ;fn 2 2 2 2AD AB BC CD= + +  gS rks fl) dhft, fd 
oACD 90∠ = gSA  

In a quadrilateral ABCD , oB 90∠ = . If 2 2 2 2AD AB BC CD= + + , Prove that 
oACD 90∠ =   

                                               OR 

In the given figure, ABC∆ is right angled at C and DE AB.⊥  Prove that 

ABC ADE∆ ∆∼ and find the lengths of AE and DE. 

nh gqbZ vkd`fr esa ABC ,d ledks.k f=Hkqt gS] ftldk dks.k  C ledks.k gS rFkk 

DE AB⊥ gSA fl) dhft, fd ABC ADE∆ ∆∼  gS rFkk AE vkSj  DE dh yackbZ;kW Kkr 
dhft, A  

  

Q.30 Change the following frequency distribution to more than type 

distribution and draw its ogive and using it find its median. 
  

Classes 0 - 5 5 - 10 10 - 15 15 - 20 20 - 25 
Frequency 6 8 10 6 4 

fuEufyf[kr ckjackjrk caVu dks ^^ls vf/kd^^ izdkj ds caVu esa cnydj mldk lap;h 
ckjackjrk odz ¼rksj.k½ [khafp, rFkk mldh lgk;rk ls ek/;d Hkh Kkr dhft,A  

oxZ 0 - 5 5 - 10 10 - 15 15 - 20 20 - 25 
ckjackjrk 6 8 10 6 4 

 

                           ************** 
    

    

9 10 


